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current.id=Teamé
current.x=130
current.y=30
other.id=\
Teaml, \
Team2, \
Team3
other.ip=\
9192.168.1.1,\
192.168.1.64,\
192.168.64.60
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° * network.properties It 2 AppConfig 222 2| networkService()
HAEO0| A ALE

public static NetworkService networkService() {

if (networkService == null) { 34*' =2C 0 o ol = 9= HFAH% H o
try (BufferedReader reader = new BufferedReader ¢ =2 2'I'I'C.‘)“l Ol_l'l_E E'IO-I EOlZl AO|-—|— O:”9’|7|- =2 O J oT
(new InputStreamReader (new |% Aé'%;' Ol Z_'!-g-%l

FileInputStream("src/main/resources/properties/network.properties"), StandardCharsets.UTF 8))) {

Properties p = new Properties();

p.load(reader);

MessageFactory.setCurrentId(p.getProperty("current.id"));

MessageFactory.setCurrentX(Integer.parselInt(p.getProperty("current.x")));

MessageFactory.setCurrentY(Integer.parselnt(p.getProperty("current.y")));

Sender.initDvmsNetworkInfo(p.getProperty("other.id").replace(" ", "").split(","),

p.getProperty("other.ip").replace(" ", "").split(","));

} catch (Exception e) {

e.printStackTrace();

String currentId = "Team6";

int currentX =

int currentY £

String[] ids new String[]{"Teaml"};

String[] ips new String[]1{"127.0.0.1"};

MessageFactory.setCurrentId(currentId);

MessageFactory.setCurrentX(currentX);

MessageFactory.setCurrentY(currentY);

Sender.initDvmsNetworkInfo(ids, ips);
}
System.out.println(
MessageFactory.printCurrentInfo();
Sender.printDvmsNetworkInfo();

"

System.out.println("
networkService = new NetworkService(itemService(), prepaymentService());

}

return networkService;
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[
| | * stock.properties IHY-2 ItemRepository SeHA 2| 44 A0f| A
private ItemRepository() { riz
stock = new ConcurrentHashMap<>(); =
try (BufferedReader reader = new BufferedReader = = o = - = o
(new InputStreamReader(new ° %’A—! —CE'IEFS—O—l |'ITE 2—!01§O|7~| %Ol-—T,— 0:”9|7|' HEFACL-Io-_l- 7o:|_l_
FileInputStream("src/main/resources/properties/stock.properties"), StandardCharsets.UTF_8))) { |% *E"%j Ol 7;‘!%5:!

Properties p = new Properties();

p.load(reader);

if (p.size() !'=7) {
logger.warning("XH&7| S8 7= 77H0{0F §L|CtH. ") ;
throw new Exception();

}

for (Object o : p.keySet()) {

String key = (String) o;
stock.put(key, Integer.parselnt(p.getProperty(key)));

}
} catch (Exception e) {
logger.warning("stock.properties Ol&. 7|2 M2 MESLICE. ");

}

stock.
stock.
stock.
stock.
.put("05",
stock.
.put("10",

stock

stock

put("e1", 2)
put("02",
put("03",
put("04",

N NN

—_— — — — ~—

put("06",

= NN
(<)

printCurrentStock();
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